sin(—@0)
cos(—0)
tan(—0)



sin(—6@)= —sin @
cos(—0)=cosl

tan(—60)=—tané



sin (0 +2nm)=
cos(0 +2nr)=
tan(0 +2nw) =



sin (@ +2nw)=-s1in @
cos(0 +2nrm)=cosl
tan(0 +2nrw)=tan o
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Sin <0+%>:c050
cos<0 —I—%> = —sin @
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tan<0 —I——>— -



sin (6 + «)
cos(0 + m)
tan(0 + «)



sin(f@ +m) = —sin @
cos(0 + m)

tan(0+7)=tand

—Ccos @









sin(w—0)

N

cos(mw— 0
tan(z —0)



sin(r—60)=sin @
cos(mr—0)=—cosb
tan(r—60)=—tan?f



tan(a+ B)
tan(a— )



tana +tanp

tan(a+8) =

]—tanatanp
tana —tanp

tan(a—p) = l+tanatanp



sin(a + B)
sin(a — )



sin (a4 B)
=sinacosB +cosasinp
sin(a— )

—SInacosB —cosasinf



COS 2«



cos2a = cos’a —sin‘a
—1—2sin‘«a

—2cos’a —1



N

cos(a+ B
cos(a— B)



cos(a+ f)
= COSacosB —sinasinf
cos(a—B)
=CcosacosfB 4+ sinasinf






o (X l1—cosa
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S1n 2a =



Sin2a = 2SIN ® COS &



tan®—



tan

& 1—cosa

92 1+ cosa



tanZ2a =



2tan «

tanZa = >
] —tan‘«a



COS " — =



& l4cosa
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SIN X + COS X =






J3sinx +cosx =



2s1n <x + —



SINX —+/3 COS X =



2S1n <x — —



